<fI1E4A18 <fI1E5A18
AA ] # HE AA ] # HEE
HEXET 36,199 17,900( 18,299] 15,6538 HEXET 36,125 17,862 18,263 15,537
KE #hig 23,229 11,407 11,822 9,974 KE #hig 23,188 11,387 11,801 9,981
1L 75 #hisg 4,969 2,486 2,483 2,177 1L 75 #h i 4,961 2,487 2,474 2,179
EHhiz 2,530 1,312 1,218 1,094 EHhiz 2,519 1, 306 1,213 1,091
&)1 hisg 2,649 1,321 1,328 1,111 &)1 Hhisg 2,640 1,316 1,324 1,110
AT L Hh i 2,822 1,374 1, 448 1,182 AT L Hh i 2,817 1, 366 1, 451 1,176
SHI1E6A18 SHIETA1R
AA ] # HE AA ] # HEE
HEXET 36,1101 17,875 18,235 15,542 HEXET 36,080 17,844 18,236 15,564
KE #hig 23,1911 11,407 11,784 9,990 KE #hig 23,1901 11,404 11,786 10,015
1L 75 h ik 4,950 2,482 2,468 2,176 1L 75 h i 4, 938 2,473 2,465 2,176
E iz 2,512 1,304 1,208 1,090 EM iz 2,510 1, 300 1,210 1,092
&)1 Hhisg 2,639 1,314 1,325 1,112 &)1 hisg 2,629 1, 308 1,321 1,107
AT L Hh i 2,818 1,368 1, 450 1,174 AT L Hh i 2,813 1,359 1,454 1,174
<f1E8A18 SHI1EIA1R
AA ] # HE AA ] # HEE
HEXET 36,023 17,830 18,193| 15,557 HEXET
KE #hig 23,164 11,399 11,765 10,020 KE #hig
1L 75 h ik 4, 934 2,472 2,462 2,172 1L 75 #h i
E iz 2,499 1,297 1,202 1,088 ER i
&)1 hisg 2,618 1,304 1,314 1,106 &)1 Hhisg
AT L Hh i 2,808 1,358 1, 450 1,17 fENAIT LIt 3k
SHITE10A18 SHTE11A18
AA ] # HE AA ] # HEE
HEEXEH HEEXEH
K= Hhis KEhis
LI 75 Hh sk L1 7 #th 35
EfNhig EfNhig
&) iz i) 3hig
fENAIT LIt 3k fENAIT LIt 3k
SHTE12A18 <F8E1A1R
AA ] # HE A ] # HEE
BEAE BEAET
K= Hhis KEhis
LI 75 Hh sk L1 7 #th 35
EfNhig EfNhig
&) iz ) hig
fENAIT LIt 35k fENAIT LIt 3k
<F8&E2A18 <F8&E3A1H
AA ] # HE AA ] # HEE
HEEXEH HEEXEH
K= Hhis KEhis
LI 75 Hh sk L1 7 #th 35
EfNhig EfNhig
&) iz i) hig
fENAIT LIt 35k fENAIT LIt 32k




